S 2
X B =
T E 4 M ERTHENEEEEREER NI LE
T E 5 KAETH E7T B 24%1 BI1E0 50 BT
E ATEL, W ER 7 FNEDE ISR EL QU \AEEE SR en i & OV N = B IR 05,
RIS LT BB T E A X T RN SHAD . TR ER, BETLDTHS,
= =
A SN T R 148
SEAEAS 7T J N4 I e 158
Bt EHREABE B E /N EEEEE 148
UPS A H 7] e 1M
ANIEEEE /B g e o 138
2} B O BRI AMBE R NS 158
A [ A R K RS EEELEE () 148
fim T B4 e == == TE=EAH
D B S-S
= = &Fn 24 4 8 6 H H




- TEREHE
EREeHE OB % ¥ 5,791,000
: EEBE I EH ¥ 888,471
¥ 11,066,000 Mo I EE ¥ . 2,383,484
o A M 5 266,666
—REHERE ¥ 733,201
G 9,106,130 -
(Fitk 8,278,300 N o '¥ 10.062.62
[EIAEELEAH T 0.0007 5 z R
R
T ] T = . 58 = = N st
B ETER | METEE | REERR | —BREEHES : i
/NS B B E R A T 5,791,000 888,471 2,383,484 266,666 733,201 10,062,822
& Frin 10,062,822
w » & B 10,060,000
HE LAY 1,006,000
w A 4 1 11,066,000




NO. 1

~ | REE
T X 34 % | BEERHE & B[] BE @) | &E (W 3
NS EEREE T T FEFEPNER =
1 B8
Mg 1 = 5,791,000
&t (=g ' 5,791,000
2 EETEE
(D&t E 1| = 210,000
(MBI E 1] = 160,363
BV FEE 1 = 383,800
LWESTE I 30,000
BEERE 1 = 3,838
OGS - EERE 100,470
- E (B TEE) 888,471
3 MEgELEE |
ESCUE s dR -V 1,035,000
QBB EEE = 1,236,000
QEfHEEE | , 1 = 112,484
i ‘ (BT =EE) 2,383,484




NO. 2 | TEEREE
. T & X X & enE - Tk ~HE =| B | BEiE (H) A% (H) kil =
4 REHINE |
ERETB TR ' 1| = 266,666
&t (ERETEINE) 266,666
5 (TEJRA) 3,538,621
5 —REHEE . |
—REEEE 1 = 733,201
B (—REEES) 733,201
=&t 10,062,822
TEME 10,060,000
HED &M Y% 1,006,000

11,066,000

HATER AF




